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5X30= 315-=+—5= 1000+ (2X5)=
A ODX31= 305+—5= 1000+=2+5=
A
18 5X32= 600—+—5= 1000+-5—+2=

[
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(6)

CRENE
1+8+3= 4+6+7= 7+9+3=
2+0+7= 2+2+2= 3+6+3=
44+1+7= 444+4= 3+0+6=

SCET P
45-+3= (4+5)+3= 54--3=
36+3= (3+6)+3= 63--3=
120+3= (1+2+0)+3= 210+3=
27+3= (2+7)+3= 72-+-3=
105+3= (140+5)+3= 150+3=
66-+-3= (6+6)+3= 666+3=
111+3= (1+1+1)+3= 2X3X5=
609-+—-3= (6+0+9)+—3= 60+2-+-3+5=
17X 3= b+ +3= 90+2-+3=+5=
25X 3= (7+5) 3= 120+2-+3=+5=
73X 3= (2+1+9)+3= 180+2-+3-+5=
104X 3= (34+1+2)+3= 240+2+3+5=
246-+3= (2+4+6)+3= 360+2+3=-5=
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2. RSO
ARG
24-+—4= 24-—-3= 20--6=—
42--2= 42--3= 42+=7=
36+—3= 36—6= 36+—9=
WET P
1. 7E45 5 IR A4 2. 355 BIHE 53 ) UL
79( ) 23+17= 134 ¢( )=24
21( ) 59+11= 23+ ( )=30
27( ) 31+19= 11+ ¢( y=14
29( ) 83+107= 3+ )=20
83( ) 59+23= 7+( =12
87( ) 71+113= ( )+ ( )=38
91( ) 67+137= ( )+ ( )=18
63( ) 13+23= ( )+ ( )=31
111¢ ) 97+89= ( )+ ( ) =44
101¢( ) 59+4-53= ( )+ ( )=36
39¢( ) 41+23= ( )+ ( )+ ( )=10
. 43( ) 5+43= ( )+ ( )+ ( )=15
g 67¢C ) 59+29= (. H+C H+C H=16
L
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TR
12X2= 12X 3= 12X 5=
2X18= AX14= 8X16=
15X 3= 18X 3= 26X 4=
NEL TR
SRR AL
(7,11 = (6,18) = (6,8)=
(5,13)= (16,32)= (12,8)=
(4,5)= (10,30)= (6,9)=
(8,9)= (5,10)= (12,15)=
(15,16) = (2,40)= (15,9)=
(9,10)= (20,200) = (14,21) =
(12,25)= (42,7)= (22,24)=
(26,49) = (12,48)= (15,18) =
(8,21)= (11,55)= (20,25)=
(17,50)= (40,80) = (4,14)=
(11,19) = (13,39)= (9,12)=
(20,21)= (25,100) = (33,21)= 2
(12,13)= (200,40) = (28,35)= il
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A
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B wkae,
&Qr—m ¥ St AFRAFT(BI)
...........................................................................

(10,5 =
(32,24) =

(5,9)=

(8,88)=
(40,45) =

(11,19 =

T SRR A R B [,

2
s

9
16

1
10

8
i

14
15

25
27

5
15

17
60

o

8
12

(6,36)=
(90,100) =

(2,7)=
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..... RAN NG
3IX4= 12X2= 24 X 2=
13X5= 14 X 5= 16 X5=
24 X 3= 24 X 4= 24 X 5=

BEH3
KA/ INVAFREL
[3,5]= [4,6]= [7,14 ]=
[4,9]= (2,10 ]= [11,5]=
[3,7]= [16,48]— [6,81—
[8.97— [13,26]— [4,10]=
[2,7]= [18,6]= [10,15]=
[3,16]= [14,42 = [20,30]=
[5,12]= [8,24 = [10,25]=
[7,20]= [5,10]= [6,9]=
[2,45]= [63,7]= (16,24 |=
[100,3]= [100,4 ]= [12,15]=
[30,13]= (280,70 = (9,14 ]=
[1,8]= [18,54 ]= [20,25]=
[5,24 = [6,24 = [15,20]=
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271X 2=
46 X3=

25 X5=

(2,0 =
(3,12)=
(4,5)=
(6,8)=
(12,18) =
(20,30)=
(11,121 =
(7,9) =
(24,36)=
(15,45 =
(9,12)=
(2,14)=
(8,10) =
(11,13) =

(12,60) =

[11,121]=
[7,9]=
[36,24]=
[15,45]=
[9,12]=
[8,10]=
[5,17]=
[8,9]=
[17,51]=
[9,12]=

[24,6]=

560+—2=
171--3=

450-=-5=
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iy 8] x A # & A A
(45~48) (40~44) (33~39)
10 54
42=C X6 (15,5)= [56,8]=
22=C  )+3 (40,7) = [10,9]=
38 ( =2 (30,17)= [54,18]=
(  HIX7=91 (18,9 = [9.5]=
66—(C  )=22 (16,13)= [20,6]=
65+C  )=5 (24,6)= [6,5]=
100+C  )=20 (58,39)= [7,35]=
20=C  )+7 (6,54)= [8,12]=
24 H=12 (21,37 = [30,9]=
120=2+C  H=12 (12,13)= [14,4]=
30=13+C ) (42,6)= [14,28]=
48-+3-( )=8 (8,12)= [13,65]=
30+2+C =5 (9,12)= [8,88]=
24=C  H+C  HUHFED (12,10)= [49,7]=
=C O+ HUHFED (14,21) = [19,20]= A
o= H+C DHUAFED (22,44)= [1,46]= ;;
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